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PART-A

ORDERING OF WORDS IN A SENTENCE

Dircctions (For the 7 bems which follow) ; In the
Jullowing items, some parts of the sertence eve Beer jurbled
up. You are requirad @ segrrorge Hhese parts wihich are
dabefled Py, R and 5 o produce the carrest senrente, Choore
e proper sequénce ond mark in pour Answer Shes
accordingly.

Wﬁpl:'fhuhemmhbi firr yoL.
. Some people believe that the effect s very bad

P Q
on children  of cirema
R 5
Which of e following is the correct sequence ?
{2 P-5-R-Q (b} 5-P-0-R
K] §=R=F-0) 1 Q-5-R-p
Explanation :

The proper way of writing the sentence is “Same people
believe that the effect of cinema on children is very bad”
This & indicated by the sequence P-5 - B -0 and 30 (a) &
the cormect angwer,
1, in estimating the size of the earth  but they were
P
hamgered by the lack of Instrumenss of precision

Q3
ANCERT ASLIINCMHTS
k
used methids which wee theoraticalby Validy
]
Which oae of the following is the correst sequence ?
(a) R-P-0-§ ) P-R-0-§
[} R=5-0-P {d) R=P-5=0
1, & is & piry thar
¥ ' p
by affering i handsome dowry
: Q
g number of parents thiok that
R

ey will be able tar ensure the heppiness of their daugheers
3

Which one of the following i the toerect sequence ?
(3 5-Q-R-P

By P=R-5-0

(ch P-5-R-0)

(d) P-R--5

E ﬂwmmumnmanm
P
amate active tale  communal harmony  ghould play
Q K 3

Which ane of the following is the comect sequence ?
() F-R-8 -0 (b} S -0-P-R
ic}§~0-R-P i) P-R-Q-5
4. The doctor able 1o find out
r
what had cauged the food paisordng — had net been
[i] Rk 3
Whtt ome of the following is the cormect sequente ?
(2} 5-P-R-0 () P-R-3-5
I P-R-5-0Q ) 5-P-Q-R
5 was suspended the officer being coemupt
P

. Q
before his dismissal from service
] 3
Which one of the following is the correct sequence ?
() Q-P-5-R MQ-F-R-3
[c) R-5-Q-P (d)R-5-0-F

* & With an unsteady hand on my desk
'F

fram his pocket he took an envelope and theew it

] R 5
Which one of the following & the comect sequence ?
(a)Q-R-P-8 b Q-R-5-P
i) R-Q-P-5 (dyR-Q-5-F

7. she gave her old coat 1o 2 begger
P Q

the ane with the brawn fur an it shivering with cold

P 3
Which oeve af the following 35 the comest sequence 7

() §-Q-R-F t5-P-R-Q
[ P-R-0Q-5 {dP-5-Q-R
COMPREHENSION

Drections (For the ¥ items which follow) : In this sectian
you have thres short passages. After each passage, you will
find severnl questions based on the passage, Finst, read o
pussage and then arswer the questions based on &1, You are
required to selert your answers based on the contents of the
pussage and opindon of the author anly, :

Examples 1" and ‘T have been solved for v,

PASSAGE (EXAMPLE)

I our approach to life, be it pragmatic or otherwise, a basic
fact that confronts us squarely and unmistakably & the
desire for peace, sscurity and happiress. Diffarent frms of
lifie ar diffesens levels of existence make up the teeming
denizens of this earth o wars, And, no matter whather they
bedong to the higher groups sach as human beings ar 1o the
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lower groups such 22 animals, all beings primarily seek
prace, combort and security, Life is as dear to a mues
CTERTULE &5 it i5 1o a man. Bvar the kowlies insecs strikes for
potection against dangers et theeaten it life, st as
el ane of us wents to Tive snd noc to dée. o da all ether
Creabunes, ) '
L The auther's main paint is char
(4] differest forms of like are fousd en earth
(b different levels of existence are passible in psture
Eﬂmmga:unhmm:dﬂ:fgnahah]]mmb:m
td}ewnwmmmmsmmmlulﬂ’:
4 Which one of the following DSSUMptions Of steps iz
esseniial in developing the authoe's position’?
{a} All farms of life have a single overriding goal
(b} The will s survive of & creature is identified wit a
desire for peace
(€] All beings are divided inta higher and lower groups
id) Awqmmm&nh@p}mandﬂﬁ,m
pain and death
Explanations ;
L The idea which represens the author's main pudnt iz
"Peace and wecuriry ase the chiaf goals of all living beings”,
which is respenze (), S (6} is the earrect answer.
.Th:bﬁtmu:npﬁmmda]mgme & 12 “The will 1o
survive of 3 crearure is identif=d with a esire for peace®,
which is respanse (b). Sa (b) s the COTTECL &nswer,
PASSAGE |
There sre eccontric people wha enjoy saving mowmey for no
ather reason mmhphasmufmdngmmy.uiu
passion llke drinking, and a hably like collecting of china,
Does it wsually begin with a moreybox 7 [mnagine a peinper
drawing the Mh:fshog:mhanmnhcrofmms,wﬂh
the first scene showing a bessevolent grandfarher balding
aut a hameles Inoling in maney-box to an infant seeresly
abhmwa]k.'fbe_gi&s]mﬂdarwysbemnpanjudhya
bex of wals, As a yatfy man the infant has grown (=10 a
mizes. By the age of forty he hes o substantial hank
acoount. But he persuades himeelf char ke s 50 pogr thar

hmgmmmeﬂmer,nmtlmﬂ::aﬁuudw

dmn:r.Bu:mhumrﬁmmdismmﬁmdma:bcis
all bt 3 pauper,

¥ Some peaple enjoy saving money bersuse

{a] they aze able to live @ happy life

(b saving i & passion with them

(c} they are able 1o enjoy the pleasures of life

{d) they can entertain others

i :‘:Fa maney-bex is gives to a child, what should accompany
(7

(#) Tlps an the advantages of saving meney

{b) Guldenes to peaserve it

(e} Instructivns on when and how to open it

() A box of toals to open it

10 A miserly man of fory doss noe go o e thearme because

(a) he has no ldng for plays

(b1 he dees not want to waste his valushle dme

(<) be persuades himself that he is very poor

(d) be &5 frighvessed by che darkness of the theatre ball

i

PASSAGE T
In the fste, for a eicker oosHng eight armas vou stond a
chanee of ACpainng a variety of artic| ~cushdoms,
sewing machines,camerss or even 2 road engine, One
B¥Ening ﬂ)eiirﬂ'ﬁﬂ:ﬂnumhﬂ 1005, and [ happened 1o
twm the o helf of the tcket. They declared that [
hmmem:-:rwnerufamdamimr Dan't a5k me how a
madMEﬂmmbeindud&damngﬂnepﬁm.[ll:
more than Leameell vou, T looked stumned. Penpde pethersd
round snd gazed 4t me as f wore some curigus animal
'Hamywmebmnmqﬂunwneuhmademl'm
Perions mattersd and giggled.
The writer purchased a tickes
(8) o win a prize
{b] to enser the fere
{c) o buy sonse eatables in the fere
(d) to play some games

12, “they"in the paragraph stands for

(8] the wrirer's friends

1] the organisers of the fele
() the sall cwmers in the fete
(d} the andoakers

12. The writer was stunned becsyuse

(2] he did oot win a prize
(b he was ar 4 loss & 1 what e do with the peize

(€} people giggled
(] the: fete eoganisers were rode ta him

PASSAGE I

A baliday in Untarakhand is aboiat supporting the eronarmy
ard ecodogy of this Redgling state with your heart, mind
And muscle, Being at the camp with wour Eamily i% & greal
experience combined with a grand taste af wild
life and adventure,
First comes the walk from the lakeside to the camp, Ity ane
of the best indéeators heee 1o “fgure' st how in or gui of
shape you are, Anything upwards of 15 mistes means it is
time v san taking your body and fimess bevels moms
mﬁmly.hnﬂuﬁmem&dmmu:mmm
wim or learmn how to knyek,

", T&wﬂrdwlﬂehirmb:h'dmadnuhhnmhuk

(a) figume [h] fioness

[£) zhape () indicamry
15 ‘I in the second pargraph refiers ta

(4} camp - B fake

(£} heliday {d) walk

18, 0 youe take about eveenty manistes to walk From the lakeside

ta the camsp it means that yoy
i) are: ot healthy enough

(b} walk ton slowly

(e} need practice in walking

(d) muse gt wsed o the exsrrise

SPOTTING ERRORS

Directions (For the 11 itema which follow) ; ([} fn chis
section @ Nureher of sentences are given, The sentences are
urniarﬂ'md[rttﬁrunpumummwm:.hmis fabeiled
(), (&} and (c). Bead eavk sentence to firid our whether thene
& a7 errorin any cre of e underiingd parts. Mo sencence has
e i re error, H‘benmu,ltrﬂunmﬁtuqufb‘u
uriddarfimed parts fa), Hiar (c), indicaes your respanse on the
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You gdi

, ©) b . GR
Q. We worked- very hard throughout the season. No error. - -
’ (a) ®) © @
Explanation :

1.

1

—

2

19,

20,

A

separate Answer Sheet at the appropriate space. You may

feel that there is no error in a sentence. In that case letter
(d) will signify a ‘No error’ response.

(ii) You are to indicate only one response for each item in your
Answer Sheet. (If you indicate more than one response, your
answer will be considered wrong.) Errors may be in grammar,
word usage or idioms. There may be a word missing or there
may be a word which should be removed,

(iii) You are not required to correct the error. You are

required only to indicate your response an the Answer Sheet.
Examples ‘P’ and ‘Q’ have been solved for you.
P. The young child singed a very sweet song. No Error.

In item ‘P’, the word ‘singed’ is wrong. The letter under this
part is (b);so (b) is the correct answer. Similarly, for item
‘Q, (d) is'the correct answer, as the sentence does not
contain any error.
He hesitated to accept the post ~ as he d1d not think
(a (b)
that the salary would not be enough for a man with a
©
fam1ly of three. No error.
)] co 0
Have you gone through either of these three chapters
@ ®
that have been included in this volume ? No error.
© (@
I am learning English for ten years
- (@) ®)

without much effect. No error.

© (d)
Ramesh has agreed to marry with the girl

(a) (b)
of his parent’s choice. No error.

© ) .
The pity is that no sooner he had left the place

(a) ®)
than the fire broke out. No error.

© )

when he was arriving the party was

(@ ®

- - in full swing. No error.

2.

‘ comprising five members

© @
The Dean wrote that he constituted a committee of experts
(a)

®)
before the next meeting took place.

(o)

No error,
@
T'can't help to sneeze I got drenched yesterday
@ ®)
and have a bad cold. No error.
(© 6]
Thave lived from the hand to the mouth
(a) ®)
for all these fifty years though nobody knows it. No error.
(© @

2. Both he as well as his friend worked in close harmony

1

2.

30.

.

32

3.

35.

@
on this same project. No error.
' © (@
The Monk loved riding and hunting
(a)
and refused to conform by rules and regulations
“ ()

®)

of the ancient monastic order. No error.

©
"SYNONYMS

Directions (for the 8 items which follow) : Each of the
followmg 8 items consists of a word or group of words in
capital letters, follawed by four words. Select the word that is
most similar in meaning to the word or group of words in

@

capital letters.
ABSURD T
(a) Senseless (b) Clean
(c) Abrupt (d) Candid
. PHILANTHROPY )
(a) Generosity (b) Perversity
. (c) Perjury (d) Flaunting
INSCRUTABLE A ’
(a) Strange (b)-Mysterious
(c) Marvellous - (d) Sublime-
EXACTLY ALIKE _
(a) United (b) Identical *
(c) Comparable (d) Regular
MUTUAL i
(a) Reciprocal (b) Agreed
(c) Common (d) Conjugal
IMBECILE
(a) Astute (b) Cunning
(c) Stupid (d) Ludicrous
WEIRD
{(a) Beastly (b) Unpleasant
(c) Frightening (d) Unnatural
AVARICIOUS &
" (a) Greedy (b) Jealous
(c) Angry (d) Wicked " -
ANTONYMS

36.

3.

38.

3.

Directions (for the 8 items which follow) : Edch of the
following 8 items consists of a word in capital letters, followed
by four words. Select the word that is furthest in meaning to

the word in capital letters.

EXPLOIT

(a) Utlize (b) Alert

(c) Support (d) Neglect .
DETRIMENTAL

(a) Demolition” (b) Aversion
(c) Beneficial (d) Bad
SHARP

(a) Bleak (b) Blunt
(c) Bright (d) Blond
CONDEMN -

() Censure (b) Approve
(c) Recommend: (d) Praise
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&, RELUCTANT
() Avaiding () Anxicus
(€} Refuse _ (d) Eager
4. INTRICATE
[8) Complicated (b} Simple
(g} Colourful (d) Good
i FENURY
() Pampaus {b) Luzury
(] Poverty {d) Punitive
4, EXPOSTULATE
(a) Procest (b} Agree
() Follow (d) Argue
ORDERING OF SENTENCES

Directions (for the 7 ltems which follow) © In the
Jollowing items, each possage consists of sir senténces, The
first sentence (5 ) and the final santenee (S ) are given in the
beginning, The middle four sentences in each Aave Been
removed and jumBled up. These are labellad ¥, Q, Rard & You
mwﬂrﬂmmﬂuu:mpmmmudmm
sentences and mark accordingly on the Answer Shagt,
Example X" has been salved for vou.
K. 5= There was a boy named Jack.

Syt At last she tarned him aut of the house,

P B0 the mother asked Him w find wark.

Q0 : They were very poar,

R.: He bved with his mother.

& : Bur Jack refused o work

The proper sequence shoald be

(a) R-Q-P-5 (k) P~ - -5
(£} 2Q-P-R-§ () R-P-5-0Q
Explanation :

The proper sequence in this example i R~ - P -5 which

is marked by (a).

Therehore, (a) iz the cormect arswer,

g :[vaidfedﬂ‘.mﬂyalmlﬂjrem:@.

8y + Set around low, forestad hills, with the Mahavelli fivar
flowing nearby, the landscape has an instance yer
tranguil beauty. .

P: The bomb blasts and wgly fave of ethnd conflic have
rot robbed the place of its gracious pace of life.

@: The amifivial lake, which dominates the landscape of
the eiry, was bullt by its last king in 1804,

Rz Located in central Sri Lanks, ar &n elevation of about
LeD0 B, Handy was the last Sishala outpost of
awenomy, tesisting both Portuguese and Durch nie
bebore It sizccumbed oo the Britizh in 1818,

5: Mast famaus for its Temple of the Tooth, a golden
pageda hausing a sacred relic of the Baddha, Kandy is
a gentle, efegant, and inspertucbable city.

The propér sequence should be

{2 R-P-0-5

bIS-P-R -0

(Q-P-5-R

(d)P-5-0-R

#5.5; & The status of women in aur country i, on the whole,
far from high,

5+ Education can lift these women out of the depths
of r;lserj.' and ignarance into which they haye
sunk. '

F o But the pligh of wanen in villages & sll miserable.

Q ; The educated women in citles enjoy equalinrwith the
men folk.
R : The Movement for the Freedom and Rights of
- women has centainly been seadily gakning
T
5§ Their education has been thoraughly meglected,
The proper sequence shauld be
(a) k-P-0)-5 b R-0-P-5
€} 5-Q-P-R ) 5-P-0-R
4. 5, : Edisan was an itventor of grear ability.
: In the ather be pinred che kil awed to his,
: Bur he had two big books in his affice.
: In one of them he shack the bills he owed.
: He did pot keep account books,
: But he was a not a very good businessman.,
P-(-R-§ b)S-R-0-F
5-R-P-Q d)R-P-0-5
: [ never knew my Father or my mather,
: There were no children nearby, and s | wandered
around in a lomely way,
¢ 1'was brought up by sy sister, much alder than I,
+ They died when [ was very young. .
¢ When Gul Mohammed was working at his forge, 1
used to spend as much tme a5 possible out of doors,
: She married the village blacksmith, Gul Mohammad,
and Tmust sy that bewag kinder to me than she wag,
The proper seqaence should be
(8)Q-P-5-R (k) 5-k-Q-F
(Q-5-R-P ) P-Q-R-5
#. 5, - We voyaged for many manths, stopping at islands 1o
barter aur goods.
Sy : Presendy [ rested under a shady tree, had my meal and
fell asleep by & murmusing brook.
P : My companions and 1 went ashore surprised by the
abundance of frait and water and the land.
Q & But [ strolled on leaving them behind,
R : One day winds guided cur ships 1o an unichabited
ishand.

m o E&“EE"‘.”@"’#

[7r]

8 :ﬁ!mmdurduuundem'ingﬂudﬂigmufﬂw

place,
The proper sequence shiald be
@ P-R-5-0 B R=P-5-0
"{P-R-Q-5 [fR=F-0-%

4. 5 :Ashoka became an ardent Buddhist and imied his

urmast ta spread the Dharma,

5y ! Buddhisan thus inroduced the mﬁmgﬂ
talerence in many societies,

P Iowas only by winning mer's hearts that he sought tn
ke converts, .

i The Buoddhists atiracted followers by their own
example of peace and non-violenee,

B : Bur there was no force or compulsian.

§ : Thus Ashoda helped in spreading Buddhism far and
wide in the warld,

The proper sequence should be

(a}R-P-Q-5

By3-P-R-5

[ R-P-5-0

Wy P-5-G-R
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50. S, : Some people prefer country life to city life.

Sg : For these reasons more and more people are leaving

the contry to live in the city. -

P : Country people live longer and generally seem to be
healthier and happier.

Q : And a chance to meet more and more people.

51. Which of the following are the possible blood groups of the
offspring of the parents with blood group O and AB?
(@)0,A,BandAB (b) Aand B
(c)A,BandAB (d) O and AB

52. Who among the following was the author of Tarikh-i-Alai,
which contains the details of the first few years of Sultan
Alauddin Khilji ?

(a) Ziauddin Barani (b) Shams Siraj Afif
(c) Amir Khusrau (d) Yahiya bin Ahmad

53, Who among the following was a contemporary of Gautam
Buddha ?

(a) Nagarjuna (b) Kanishka
(c) Kautila (d) Mahavir

54. Sati was declared illegal and punishable by the Regulation
XVII during the Governor Generalship of
(a) Lord William Bentinck
(b) Lord Canning
(c) Lord Ripon
(d) Lord Dalhousie

55, Match List I with List Il and select the correct answer using
the codes given below the lists :

ListT 4 Listh
. (Battle) (Year)
A. {1"Battle of Panipat 1. | 1565
B. | Battle of Plassey 2. 11526
C. | Battle of Haldighati 3. 11757
D. | Battle of Thlikota 4. 11576
Codes :
A B c D
(a) 2 3 4 1
b 2 4 3 1
© 1 4 3 2
@1 3 4 2

56. Which one of the following slogans is attributed of Subhash
Chandra Bose ?

*(a) Jai Jawan Jai Kisan (b) Bande Mataram
(¢) Jai Hind (d) Ingilab Zindabad
51. Where did Buddha attain Parinirvana ?
(a) Both Gaya (b) Kushinagara
(c) Rajgriha (d) Vaisali

58, Bande Mataram, the nationalist song, was a part of
(a) Durgesh Nandini (b) Saraswati Chandra
(c) Grihadaha (d) Anand Math
59. Who among the following has authored the book Hind
Swargj ?
(a) Bal Gangadhar Tilak
(b) Mahatma Gandhi
(c) Gopal Krishna Gokhale
(d) M.G. Ranade

PART-B

R : Life in the country is quieter, cleaner and less hectic.
S : However, the city offers more excitement and job

opportunities.

The proper sequence should be
(@) P-R-Q-S M R-P-Q-S
(©P-Q-R-S (dR-P-S-Q

- 80. The entry “Public health and Sanitation” is included in the
Constitution of India in i
(a) Union List (b) State List
(c) Concurrent List (d) None of these

p=4

The Instrument of Instructions on the Government of India
Act 1935 has been incorporated in the Constitution of India
in the year 1950 as
(a) Fundamental Rights
(b) Directive Principles of State Policy
(c) Fundamental Duties
(d) Emergency Provisions
62. Who among the following was the advisor of the Drafting
Committee of the Constituent Assembly ?
(a) B. Shiva Rao
(b) Dr. B.R. Ambedkar
(c) Sachidananda Sinha
(d) B.N. Rao
63. On which of the following grounds can a Judge of the
Supreme Court or a High Court be impeached ?
1. Violation of the Constitution :
2. Proved misbehaviour

3. Incapacity

Select the correct answer using the codes given below :
(a) 1 only {b) 2 only

(©1,2and 3 (d) 2and 3

64."Which of the following is/are the function/functions of the
Finance Commission of India ?
1. Making recommendations as to the principles governing
grant-in-aid of the revenues of the States.
2. To suggest measures to'augment Consolldated Fund of
India ?

Select the correct answer using the codes given below :
(a) 1 only (b) 2 only
(c)Both1and 2 (d) Neither 1 nor 2
Which of the following Constitutional Amendments have
added Article 15 (5) in the Constitution of India providing
for reservation in educational institutions in the private
sector also ?
(a) 81 Amendment (b) 86™ Amendment
(¢) 91* Amendment (d) 93 Amendment
66. If any question arises whether a Bill is a Money Bill or not,
whose decision shall be final ?
(a) The Supreme Court of India
(b) The President of India
(c) The Speaker of the Lok Sabha
(d) Joint Parliamentary Committee
67. The current Economic Census of India, the fifth in the
series, was conducted in the year -
(a) 2005 (b) 2006
(c) 2007 (d) 2008

o
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B, Which amang the following Seares/UT is the latess 1o
introduce VAT (Vale Added Tax) in Indla ?
{a) Gujarar (b) Puducherry

(€} Uttar Pradesh {d) Tamil Nadu

B8 Whe amony the following was. the Chairman of the High

Level Committee on Compesition Policy and Law 7
(a} Bimal Jalan (b} C. Rangarajan
(€] Y.V, Reddy (d) 5V.5 Raghavan

™, The idea of including the Emergency pravisions in the
Constitution of India has been bomowed from the
{a) Constitution of Canada .

(b) Weimar Constitusion of Germany
(c} Congtitution of Iréland
(d) Comstiturinn of the US4 .

M. In India, public expenditure on education (Centre and
States) as a percentage of GDP at present & between
(2] 2 1o 3 per cent (k) 3 1o 4 per cent
i} 4 to 5 per cent [d) 5 w0 6 per cent
Directions : Each of the next fiur items consisty of rwo
stavemeerts, ane iebelled as the dacertlon [A) and the other ag
Regsar (R). You are to cxoming thess two stmbamenes
carefully and sebect the answers i these items using the codes
given balow ; .
Codes ;

(a} Both & and R are individually trae and R is the cosrect
explanation of A .

(b} Boch A and R are individually erue but R 5 moe the
correct explanation of A

i A i true but B s False

{d} A is false but B iz true

T2 Assertion (A) : Carbon ean form more compounds than
any other element,

Reason (R} : Carbon can exist in various alloropes,

T, Assertion (A) : In summer 2 block of iron is horter than a
block of wand,

Reason (R) : The relative density of iron is more than
the relative density of word.

T, Assertion (A) : Two artificial satellives having different
masses ard revalving around the Earth in
the same circular gebie have same speed,

Reason (R) = The speed of a satellie i directly
propartiona] to the radius of its arbije,

15, Assertion (A) ; The Equator i5 a great cincle,

Reason (R) 1 The Equator encircles the whale Barth
and its plane divides the Earth into mwa
equal halves,

T6. Which one of the following sets of Srates dees Aot receive
enest af its rainfall from SW monsoson during the months of
June to Sepramber 7
(8] Ardnachal Pradesh and Gujarat
(b) Asom and Karmataka
(] Himachal Pradesh and Rajasthan
(d) Tamil Nadu and Jammu & Kashmir

71, In which one among the following Stares is the perentage
of Scheduled Tribes population te its toml papulation
highest 7
(a) Chharrisgard)

(k) Madhya Pradesh
{e) Mizoram
{d} Rajasthan

T8 Match list I with List 11 and select the correct answer using
_the codes given below the His ;

List1 g List 11

2 (Peak) Fod) (Sfate)
A | Didabetta I1 !lhhmsh:n
B. |Gurushithar |2 | Madhya Pradesh
€. | Kalsubai B | Tamil Nadu
n. i Dhgpgarh 14, Eﬂmdﬂﬂhfﬂ
Codes ;

A B C n
fay 3 1 "4 2
b 2 1 4 3
€ 3 4 i 2
W 2 4 1 3

74 The mass of water vapour per unit volume of air is known

a8
(2] relative humidity
(b specific humidity
{c) absalute humidiey
{d} variable humidity

. What is the term used to dente the eritical temperature at
which the air becomes sarurated with vapar and below
which the condensation is |ikely to begin 7
[} Condensztien point

(d) Poinr af critical temperature

#. March List 1 with List 11 and select the correct answer using
the codes given below the list :

List [ H Lst [
_ | (ubingBank) | | (Cosst)
A, | Dogger Bank 1. | Newfoundland Coast
B. | Grand Bank {2 | Australia Coag
C. |Great Bamier Beef | 3. | Morth Sea
D. [Tongatrench - {4 |EastofFilllland
Codes =
A B C D
@ 3= 1 2 4
b 4 2 1 3
el 3 2 1 a4
@4 1 2 3
8L Dry point setlements are common in
{2 Dogerts (b} Plateans
() Mountain regions (d} Deltas -
&3, Macch List 1 with List 11 and select the correct answer using
the edes given below the lists -
! List T § Listm
. (Himalayan Peaks) | | (Seates)
A : Nanga Parbat {1, | Jammu & Kashmir
B. | Nanda Devi ‘%, | Sikkim
C._| Kanchanjunga | 3. | Untarakhand
Condes :
A E c
(@ 1 2 3
m 1 3 2
fc] % i 1
d 3 1 2
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84, Which one of the following. instruments is used for
measuring the humidity of the air ?
(a) Wind vane
(b) Aneroid barometer
(c) Wet and dry bulb thermometer
(d) Maximum and minimum thermometer
85. Which ‘among the following is the correct sequence of
rivers starting from North to South ?
(a) Bhima - Godavari - Penganga - Tungabhadra
{b) Godavari - Penganga — Tungabhadra — Bhima
(c) Penganga - Godavari ~ Bhima — Tungabhadra
(d) Penganga - Bhima — Godavari — Tungabhadra

86. Which one of the following is the international aircraft -

identification mark (registration prefix) for India ?

(a) AT (b) VT
() X (dVX _
87. Match List 1 with List II and select the correct answer using
- the codes given below the lists :
Listl T

ek (Volcano) (C_Lﬂ}
A.- { Mount Ema MT Indla

B. | Kilinanjaro I 2.{USA

C. |Katmai 3. | Tanzania

D. |Barren Island 14, |Italy
Codes :

A B C D

@ 1 3 2 4

® 4 2 3 1

© 1 2 3.4

d 4 3 2 1

88. Shimsha, Hemavan Arkavati are the tributaries of which
one of the following rivers?
(a) Tapti " (b) Tungabhadra
(¢) Cauvery (d) Krishna

89. Which among the followmg planets is smaller in size than
theearth ?

(a) Neptune (b) Venus
(c) Saturn (d) Uranus .
90. Which of the following is not correctly matched ?
() Prime Meridian 0
(b) International Date Line :  180°
(O) Arctic Circle .66 % oN
*(d) Tropic of Cancer : 23%" S

91. Which one of the following is different in local time
between the places located at 165° East and 165° West ?
(a) 0 hours (b) 12 hours
(c) 22 hours (d) 24 hours

92. The natural dye present in turmeric is known as
(a) Cinnamin

. (b) Phenolphthalein

(c) Methyl orange
(d) Curcumin

93, Which one of the following is not an enzyme ?
(a) Amylase (b) Pepsin
(c) Somatotrophin (d) Trypsin

9.

97.

98.

- 100.

101

102

103.

104,

Which one of the following processes takes place in lakes
during entrophication ?

(a) Rapid destruction of algal growth

(b) Execessive availability of dissolved oxygen

(c) Loss of dissolved nutrients from water

(d) Excessive entry of nutrient into water

Among the given nutrients, milk is a poor source of

(a)-Calcium (b) Protein

(c) Carbohydrate (d) Vitamin C
Which one of the following is not a mammal ?
(a) Dolphin (b) Shark

(c) Seal (d) Whale

Which of the following organelles of a cell is/are involved
in photosynthesis ?

(a) Chloroplast

(b) Mitochondrion

(c) Endoplasmic reticulum

(d) Golgi bodies' :

The wounds of face bleed profusely because

(a) of its rich vascularity

(b) it is close to the heart

(c) its skin is soft

(d) of fast contraction of facial muscle

Oral Rehydration Therapy is recommended for patients
suffering from

(a) tuberculosis (b) typhoid

(c) tetanus, (d) cholera

Match List I with List II and select the correct answer using
the codes g en below the lists :

| o ListIt
(Disease) (Diagnosis)
A. | AIDS 1. | Widal Test
B. {Plague 2. | Wayson Stain Test
C. |Typhoid 3. | ELISA Test
4. | Mantoux Test
Codes :
A B C
@ 4 3 2
®» 3 2 1
© 1 2 3
d 3 2 4
One light year is equal to
(a) 9-46x107°m (b) 9-46 x10*m
(€) 9-46x103m (d) 946 x10°m

Which among the following thermometers is preferred for
measuring temperature around 1250°C ?

(a) Mercury thermometer

(b) Constant volume gas thermometer

(c) Optical pyrometer

(d) Platinum resistance thermometer

What is the mass of one litre of cottonseed oil of density
926kg/m’

(a) 926 kg (b)926kg

() 0926 kg (d) 9260 kg
The wavelength of X-rays is of the order of
(a) Imm (b) 1lem

(c) 1micron (d) 1 angstrom
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(b) maintains momentum conservation

(c) gains energy by running

(d) gains momentum

Which among the following is the necessary condition for
simple harmonic motior; ? .

(a) Constant period

(b) Constant acceleration

(c) Displacement and acceleration are proportional

(d) Displacement and torque are proportional

121.

(a) Longitudinal, 50 m/s

(b) Transverse, 50 m/s

(¢) Longitudinal, 100 m/s

(d) Transverse, 100 m/s

Which one of the following is the amount of heat given up
when 20g of stream at 100°C is condensed and cooled to
20°C?- '

(a) 10000 cal (b) 11400 cal

(c) 12400 cal (d) 13600 cal
















